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1. [RFHEE (Fi4R)
IS BN RRT H2018FE10A M D2018FE12BETHE SIREHEIZLYET,
@ LNGEHEE = 64,620 /t
@ LPGEHfEE = 68750M/t
2. [RFEFEEEE ()
o= BA{f (F/m)
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(1) FREHER (FiiR)
LNGEHEE x 09576 + LPGEHIHEE x 00466
= 64620 x 09576  + 68,750/ X 00466
= 65,083.862 F
- 65,080/ (10AKRFEDIHBEEIEHA)
(2) RFMEHE L ENEE (Fitk)
FAEF R - 1 R
= 83,350 - 65,080/
= 18,270M
- 18,200 (100AKFEDinZETIYIET)
(3) [ 2 AR 22 Bl - — %0 R/NSEARAGHIFR (FRIA)

-0.081 x FEMERZESE - 100A  x  (1+HEBHER)
= -0.081 X 18,200 = 100 x (1+008)
= -1592136M
- -15.930 (PR E 2R RFBDIHHMERD/NESNAIZHIYIET)

(4) RFERZLEME - SREBELRGHR D)

-0.081 x [RFMEWEEENZE - 100 x 1.2 x (I +EEHE)
= -0.081 X 18,200M = 100 x 1.2 X (1+008 )
= -19.105632M
- 19110 UMIURE2RRBEOHBERD/NSNAIZHIYIET)

3. AEMEEMBIVEHEAEIZONT
FILRER-/MABREBRAOEESERIT (2HBHME) D5E

(%itk)

BEAX S FHEEAHS(A/R)| KEHSEMEA/m)
A [0mMMS20MET 669.00 113.30
B [20m%#B%200mMET 1,647.00 64.40
C [200mM%EHEZZI5A 3,441.00 55.43

(FtEH) EAE29MDIGE
[FEREHEAEE (1,647M) + S5 £ (64.40M/m* X 29m*) } X 1.08=3,795[ (/M A LI T Y T)



